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é DISTANCE ARE RELATED, IN PARTICLILAR
) HowTD FIND DISTANCE From Vewery
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IN THE PREVIOUS GHAPTER(S) WE USED THE DERIVATWVE TO FIND THE RATE OF GHANGE

OF A CIVEN FUNCNON.

WHAT IF WERE Liven THE RATE OF (HANGE, BUT WANT TO REODVENR THE ORIGINAL FUNCDON?

DIsStANCE = VEWT‘jx_meE
Ex  SupPost wE RECORD GOGO RACMS (T APPEARS ﬁ
AS TUOUGH Hee vEWCITY |5 INCREAGING; WE mEASURE -
HER Velotiry (SPEED+DIREETON) AT 5 SGeonD INTERVALS: : 7 ~
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We DONT kow How FAST Gobo 15 MBVING EVERY SELOND, 50 wg LANT FINO THE EX AGT DSTANLE
TAAT 6HE RAN.. Bux we pan esTimate 1!
BETTING A LOWER E4TimATE

* Gobd 15 60ING AT._LEAST 5#4/4500100 FOR THE FIRST 45 sg€eonDs.

SINCE PISTANLE = VEWLITY xTIME, WE SEE $HE TRAVELED AT_LEAST Q54
IN TUE FiRST AVE SECONDS.

* So... DURING THE 95 -SEQOND PERWD ON THE CHART ABDVE, Gobo TeAvELS AT LEAST.

(89) «+ (10:5) ~ (139D« r2) + (325 = 4554+

GEMNG A HIGHER ESTIMATE

THIs 15 AN UNDERES TIMATE

* WE LAN ALSO OVERESTIMATE THE DISTANCE THAT (060 TRAVELLED. "2;7“650 %“J’E&‘g“”be
DURING THE FIRST & SELONDS, DGO 15 GOING AT MQT  IDft]sEC.

THus, sHE TRAVELED AT mDST  5-(0 =O0ft IN THE FIRGT & %660ND5, This (6 AN OVER ESTINATE

*DURING THE 35— SELOND PERIDD OF THE (HAET, (o0GD TRAVEW At Mosr / OF THE TUIAL DIETANCE
- (PO iy ELED.
(510) + (417) + (4:93) + (6°30) + (Hl4o) = LRft
so {ar..

4554 < totaf distance Gobo travelled < L3 ft



To 6ET AN EVEN BETTER E4STIMATE, MAYBE WE LOULD AVERAGE DUR ESTIMATES TDEETUER.
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GRAPHILALLY, WHAT WEVE DONE 1S THE FOLLONING:
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fior oF DATA OUR LOWER DUR WPPER
ESTIMATE ESTIMATE
Eﬁ_&l.': IF vgwwy 1% PoSITIVE, THE TOTAL DISTANCE TRAVEWED 15 THE AREA UnOEL THE
VELOOTY CURVE-

EXAMPLE. AUCIR 15 RIDING A BICYLLE: HER VELOLITY, IN FeeT/s6C 15 Gwen By v(t)=3t.
How FAR bpoes Bike TRAvEL v 35667




